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Standardlastfälle des Einfeldträgers und zugehörige  

Schnitt-größenverläufe 
 

System und Lastfall 

l

 

Q-Verlauf M-Verlauf 

/ 2l / 2l

P

 
2
P 2

P
−

 

4/Pl

 

a b

P

 

l

Pb Pa
l

−

 

Pab
l  

a b

P

a

P

 

P−

P  
Pa

 

p
 2

pl
2
pl

−

 
8

2pl

 

a b

p

 

A
B−

A B pa= −
2

2
paB

l
=

/A p

 

0max /M bei x A p=

0x

Bb

2
0

0max
2

p xM A x ⋅
= ⋅ −

 

a b c

p

 

A
B−

2
pb bA c
l

 = + 
 

B pb A= −
 

A a⋅ B c⋅

0x

0max /M bei x A p a= +

( )2
0

0max
2

p x a
M A x

⋅ −
= ⋅ −

 

p

 6
pl

3
pl

−

0x

0 3
lx =

 
0x

2

9 3
pl

 
LM

 
l

ML

 
LM

 

a b

LM

 
l

ML

 

L
bM
l

−

l

a
M L

 
 


